CLOPAY MODEL 3200 (24 GA MIN EXT SKIN) 4 [ 5/57 —|WOVED 1@ DODRS TO DG Hiviea?

# # # # 05| 372000 ADDED FULL VISION NOTE; REVISE JAMB NOTE
CLOPAY MODEL 3220 (20 GA MIN EXT SKIN) THIS PRODUCT COMPLIES # # # # 06| 3/2000 |ADD TRACK OPTIONS NOTE
(TYPICAL)> - - m " 07| 8/24/00 |ADD PUSHNUTS; OLD DESIGN LOADS +/—-30 PSF|
HOLMES MODEL 240/240G (24 GA MIN EXT SKIN) BACK-UP PLATE VI SINEYSedE IBC/RE: ) A T T B | 10,2009 [UPDATED TRACK AND JAMB ATTACHMENT INFO
MAX 16°—2" WIDE X 18-0" HIGH gg PG'E\IC‘\ED 18 Z 03/2005 LUPDATED CODE RPF.. SPECIFIED OPT_ACRYLIC.
STEEL. ——_ U-BAR TRUSS, SIZE. QTv. &  OPTIONAL ALUMINUM FULL VISION WINDOW LITE 08/2005 ADNED M/N 240 (WAS ON D/N 102079)
NUMBER OF . — LOCATION AS NOTED THIS ows. SECTIONS AVAILABLE, SINGLE PANE OR INSULATED. {HlLi—10/2005 _ADDFD ROLLFR OPTION
DOOR HEIGHT *A’ ['GFin o : ALL PANES ANNEALED GLASS OR STRONGER. Ao AUEOATER JAMR. AHTAGH coARDEDMEG -2l —
P - ”»
P T 507 = = 2" 10 BALL LONG STEM STEEL SINGLE PANES 3" OR THICKER. INSULATED i = R4R0— I NATEN AUMDOBRE-SkME
8-3° THRU 10’-0° 5 %%léLER WITH STEEL OR NYLON wINDOWS i" THICK, CONSISTING OF/(Z) PANES é" ;; S ::\:‘BED—EQBOVFD :
10°-3" THRU 12°-07 6 = THICK. MAXIMUM DLO: 50" X 21-3/4". FULL Wn COEED, TABLE
o e Aty S VISION SECTIONS TO HAVE SAME REINFORCEMENT 'f?—mm—ng,aoaa wnms;n T
16’'-3° THRU 18’-0° S AS OTHER SECTIONS.

ADJUSTABLE TOP ROLLER BRKT OF
12 GA. GALV. STEEL. FASTENED
WITH (4) #14 x 5/8" SHT. MTL.
SCREWS

3’ X 20 GA. STEEL U-BAR TRUSS,
(2> PER SECTION, (1> AT TOP, (1>
AT BOTTOM. INSTALLED WITH #14 x
<l 3/4° LG. SELF TAPPING SHT. MTL.

INTERMEDIATE ROLLER HINGE OF SCREWS,

MIN. 14 GA. GALV. STEEL OPTIONAL SINGLE PANE OR INSULATED
FASTENED WITH (4) #14x5/8" SHT. e ———" WINDOW LITES. ALL PANES ANNEALED GLASS
MTL. SCREWS & (2) 1/4"x3/4" i . y ; 0 OR STRONGER. SINGLE PANES §” OR

SELF TAPPING SCREWS. THICKER. INSULATED WINDOWS 1™ THICK,
CONSISTING OF (2) PANES g' THICK.
FRAMES SECURED WITH (10) PUSHTITE PAN
#8-16 X 2" PHILLIPS HEAD SCREWS. (3)
ON EACH HORIZONTAL EDGE, ¢2) ON
EACH VERTICAL EDGE.

MAXIMUM DLO: 21-3/8" X 5-1/2"

STEEL SKINS ARE ROLL FORMED

MAX. SECTION HEIGHT: 24" OF .016" MIN. (INTERIOR) AND T

.022" MIN. (EXTERIOR) COMMERCIAL

QUALITY STEEL, STUCCO EMBOSSED,
G—40 MIN. GALVANIZING.

SECTIONS ARE 2" THICK SANDWICH 18°-0° MAX. §

CONSTRUCTION CONSISTING OF
EXTERIOR & INTERIOR STEEL SKINS
PRESSURE BONDED TO AN EXPANDED

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE POLYSTYRENE CORE.
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (REF. CHAPTER 16 FBC/IBC)

DOOR SKINS FORM A WEATHER TIGHT 3
TONGUE AND GROOVE JOINT

~+—— SILICONE THERMAL BREAK

1.953 THICK EXPANDED POLYSTYRENE
FOAM INSULATION.

VIEW *A°

I \-TWO POINT
' ' ' LOCKING
NOTE: THE DESIGN OF THE SUPPORTING

STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY

OF THE PROFESSIONAL OF RECORD FOR THE

BUILDING OR STRUCTURE AND IN ACCORDANCE S1Re 19 ARAGHET

BOTTOM BRACKET OF 12 GA. GALV.
STEEL FASTENED WITH (4) #14 x

16'-2* |

WITH CURRENT BUILDING CODES FOR THE LOADS Dg“ng HORIZONTAL 5/87 LG. SHT MTL SCREWS
LISTED ON THIS DRAWING. MAX. DOUBLE END STILES OF 16 GA.
PREPAINTED GALVANIZED STEEL
HORIZONTAL TRACK END HANGER
BRACKET (SUPPLIED BY DOOR o
CAST ALUMINUM  INSTALLER> CLOSES ROLLER CHANNEL. DOUBLE TRACK #14x5/8" SHEET METAL SCRews DHCK-UP PLATES [SECTION 3-3
CABLE DRUM INTERMEDIATE HANGER REQUIRED FOR

LOW HEADROOM OPTION

DARRS 12°0° AND HIGHER

L
NAYAY A Y/4 47x SELF PUSH NUT EACH ROLLER
C NOTE: DOUBLE TRACK LOW BOTTOM SECTION REINFORCED W/ Hepi SCREWS
4 HEADROOM, HI-LIFT TRACK, A TEMPERED ALUMINUM EXTRUSION <
% ) FOLLOW—THE—ROOF TRACK, WTH INTEGRAL RETAINER FOR 14 GA. DOUBLE END HINGES 14 GA. INTERMEDIATE HINGE
2 i AND VERTICAL LIFT TRACK X g 4S ATTACH ON EACH HINGE AS SHOWN  ATTACH ON EACH HINGE AS SHOWN
% I
Zs Kf \ ARE AVAILABLE OPTIONS. 3" (4> #14 X 5/8° LG, SHT. MTL. WITH (4> 1/4* X 5/8° SHEET
S GALV STEEL TRACK TRACK ALSO AVAILABLE. SCREWS AND (2> 1/4°x3/4* METAL SCREWS
-l SECTIONS- SELF-TAPPING SCREWS. <AS
HORIZONTAL - 14 GA DESIGN ENGINEER: MARK W. WESTERFIELD, P.E. o e,
WK Wi A RASED SEXL (EMBOSS). FLORIDA P.E. #48495, NC P.E. #23832, TEXAS e 491513 R
| | | | < <’
i GALVANIZED STEEL | ] SIEEL_\ZAM.B.SA | STEEL JAMBS | d , :.
Tl TRACK SECTIONS . 3/16> MIN. STEEL WOOD JAMBS - «
CONCRETE JAMBS . T
VERTICAL - 060 MIN 2.000 PS! MIN CONCRETE OR I I 3A/;IABB MIN. STEEL I JAMB | 3/8" x 1-1/2 e ‘.:‘
d € 2. S MIN | /_ MIN. EMBED’LAG vV &
] £780 LROCK | CONCRETE | MaY BE BACK-FILLED | maY BE BACK-FILLED 1/4°%3/4° LG. SCREW. 1-1/8" Foug ~
= VERTICAL TRACK CAN BE 3/8" x 1-5/8" MIN. EMBED WITH CONCRETE, BUT NOT WITH CONCRETE, BUT SELF TAPP'_Nsl O.D.WASHER REQ'D. * ~
N EITHER BRACKET MOUNT SLEEVE MASONRY ANCHOR. | 1/4" x 1-3/4" MIN, | REQUIRED FOR WELDING. NOT REQUIRED FOR SCREW. 22 24" MAX. 0.C. TO // = D
CONTINUOUS ANGLE OR WASHER INCLUDED. 17 EMBED TAPCON | lser TAPPING SCREW, uax ac. 1o SECURERZ A WO0D: S
REUETSE micE T, AL A SR e g R *
OPENING J TRACK BRACKETS AND MIN. EOCE DISTANGE = | 14° WAX, 0C. 10 | | STeEL uave. | BRACKET MOUNT OR CONTINUOUS 5/ '/ /22 -
HEIGHT — TRACK CLIPS ARE 12 GA. ] SECURE ANGLE 10 | { | Q)r:gu.:z MOUNT TRAGK FASTENED T0 5
GALV. STEEL. BRACKETS CONCRETE. 3 MIN. 1/8%i" FILLET WELD : I Pa e
i AND CLIPS ARE ATTACHED / EDUE DISTANCE EBOXX ELECTRODES JAME_WITH ONE 5/16°X1_S/8 LG. =
oy E;E{%?lﬁ TO TRACK WITH EITHER TWO [ BRACKET MOUNT OR CONTINUOUS | lum){m "CENTERS, TACK ]1020NGI1ANU%AULSV ANGLE MOUNT l R ET A O ATl T o8 DESIGN LOADS: +30.0 PSF, —32.0 PSF
| Ll 1/4" RIVETS OR ONE 1/4" ANGLE MOUNT TRACK FASTENED TO | | WELD TOE OF ANGLE AT | TRACK FASTENED DIRECTLY | TEST LOADS: +45.0 PSF, —48.0 PSF
6 e 2X6 #2 OR BE'HER/ YELLOW PINE | | SAME SPACING. T0 STEEL JAMB. SECDION 3-3 | SECTION 3-3
1 A e ' g by ALt et Bl 12 GA. GALV. REVERSE OR VINILDAD RATING MANUFACTURED / PURCHASED
| —|— %agc's(cgm i%'éﬂ',‘é‘,f"” R I L I el L - 8585 DUKE BLVD. MANUFACTURING PRODUCT CODE: i | MANUF ACT.
T 172 | R R soarerne | o Blopay|eey,o suo WP CDSTER1F447 | WS
SECTION 3-3 SECTION_3-3 ThacK FASE.:‘E_D DIRECIEG Clopoy Corporation All Rights Reserved. [PAT® 3_o57_ WIND LOAD 3200, 3220
A | | 70 STEEL JAMB I CORPORATION 3-27-92 e

tNQ.N"'



